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RATIONAL NUMBERS

1. Show that every natural number is a positive

rational number.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LnahWr9j7moh

° Watch Video Solution

2. Show that Every negative integer is a

negative rational number.

o Watch Video Solution

3. Write down the numerator of each of the

following rational numbers:

7 ... 15
(a)— 5 (ii) 4

o Watch Video Solution



https://dl.doubtnut.com/l/_LnahWr9j7moh
https://dl.doubtnut.com/l/_9X0RxGcp1cC0
https://dl.doubtnut.com/l/_8Cq798A6Ptqj

4. Write down the numerator of each of the

following rational numbers:

—17 . 8

(i) —

@)—57 ()3

o Watch Video Solution

5. Write down the denominator of each of the

following rational numbers:

-4 11
(a)T (ii) _—34

o Watch Video Solution



https://dl.doubtnut.com/l/_8Cq798A6Ptqj
https://dl.doubtnut.com/l/_ko0WZ4A93b7Q
https://dl.doubtnut.com/l/_ffMKLhfWX9mB

6. Write down the denominator of each of the

following rational numbers:

— 15
— 82

(a) (i) 15

o Watch Video Solution

7. Write down the rational number whose
numerator is (—3) x4, and whose

denominator is (34 — 23) x (7 — 4).

o Watch Video Solution



https://dl.doubtnut.com/l/_7urTOYupxKc9
https://dl.doubtnut.com/l/_sAhD419IPRKZ
https://dl.doubtnut.com/l/_6pfm3nhn0GGZ

8. Write the following rational numbers as

7 —12 34 —73 95
17 1 217 1’1

integers:

° Watch Video Solution

9. Write the following integers as rational
numbers with denominator 1:

—15, 17, 85, — 100

° Watch Video Solution



https://dl.doubtnut.com/l/_6pfm3nhn0GGZ
https://dl.doubtnut.com/l/_FdYpv2WSj46l

10. Write down the rational number whose
numerator is the smallest three digit number
and denominator is the largest four digit

number.

o Watch Video Solution

11. Separate positive and negative rational

numbers from the following rational numbers:

—5 12 7 13 0 —18 -9 -1
_77 _5727_—97 ’ _77 1167 _9

o Watch Video Solution



https://dl.doubtnut.com/l/_QhcvydSwc6tf
https://dl.doubtnut.com/l/_8hyxk8aXizL7

12. Which of the following rational numbers

Lo =8 9
are positive: (I)T (ii) 3

o Watch Video Solution

13. Which of the following rational numbers

.o —19 =21
are positive: (|)_—13 (i1) BER

o Watch Video Solution



https://dl.doubtnut.com/l/_8hyxk8aXizL7
https://dl.doubtnut.com/l/_odgS36YfzBDY
https://dl.doubtnut.com/l/_6F9gBSA4cFhN

14. Which of the following rational numbers

. L3 .. —9d
are negative? (I)T (i1) 3

° Watch Video Solution

15. Which of the following rational numbers

, 9 . =115
are negatlve? (I)_—83 (II) T97

o Watch Video Solution



https://dl.doubtnut.com/l/_nvJoEoT8GUmm
https://dl.doubtnut.com/l/_cbMZr9iJCehG

16. Write each of the following rational

numbers  with  positive  denominator:

5 15 —17
7’ —28° —13

o Watch Video Solution

17. Express —— as a rational number with

6

numerator:

(1)— 15 (ii) 10

o Watch Video Solution



https://dl.doubtnut.com/l/_e4dbL72G4Ygx
https://dl.doubtnut.com/l/_g8YzcGUbXIiQ
https://dl.doubtnut.com/l/_VeVbaUJZKzFK

18. Express e as a rational number with
denominator
(i) 20

(i) — 30

o Watch Video Solution

—48

19. Express as a rational number with

denominator 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_VeVbaUJZKzFK
https://dl.doubtnut.com/l/_vc1Novr9BUx3
https://dl.doubtnut.com/l/_qTDXFJPfytvF

as a rational number with

20. E
Xpress —.o

denominator 3.

o Watch Video Solution

. S5
21. Fill in the bIanks.(l)_—7 =35 = "o (ii)
7T 3 —63

13

° Watch Video Solution

22.In each of the following, find an equivalent

form of the rational numbers having a


https://dl.doubtnut.com/l/_qTDXFJPfytvF
https://dl.doubtnut.com/l/_5PkbQxBZaJSS
https://dl.doubtnut.com/l/_CgDkAn9pYEX3

7

common  denominator (i)ﬁ andg (ii)

2 5 7
g, E andﬁ

° Watch Video Solution

23. Express each of the following as a rational

—15

number with positive denominator: (i)—28

(i) °
I _—9

° Watch Video Solution



https://dl.doubtnut.com/l/_CgDkAn9pYEX3
https://dl.doubtnut.com/l/_ukBsP5YKC1YB

24. Express each of the following as a rational

number with positive denominator:

. —28
T
. 19
(ll)_—7

° Watch Video Solution

25. Express 5 as a rational number with

numerator:
(1)6

(i1) -15

| & I


https://dl.doubtnut.com/l/_2clMArZk4QCI
https://dl.doubtnut.com/l/_ozEbVegvhp3V

| ¥ Watch Video Solution |

26. Express 5 as a rational number with

numerator: (i)21 (ii) -27

o Watch Video Solution

27. Express - as a rational number with

denominator: (i)— 14 (ii) 70

o Watch Video Solution



https://dl.doubtnut.com/l/_ozEbVegvhp3V
https://dl.doubtnut.com/l/_3KvG3wqzMlvi
https://dl.doubtnut.com/l/_OH3abOJGT1tw
https://dl.doubtnut.com/l/_SczCWDzjPdVk

28. Express - as a rational number with

denominator: — 28 (ii) — &4

° Watch Video Solution

29. Express 7 % @ rational number with

denominator: (i)20 (ii) 36

o Watch Video Solution

30. Express 1 as a rational number with

denominator:


https://dl.doubtnut.com/l/_SczCWDzjPdVk
https://dl.doubtnut.com/l/_GsTXkHiftHk5
https://dl.doubtnut.com/l/_fDDwpybC9Jea

()44

(i) — 80

° Watch Video Solution

31. Express 5 as a rational number with

numerator

(1)— 56 (ii) 154

° Watch Video Solution



https://dl.doubtnut.com/l/_fDDwpybC9Jea
https://dl.doubtnut.com/l/_DMlGJ0IrHs2w

32. Express — as a rational number with

5

numerator
(i) — 750

(i1) 500

o Watch Video Solution

—192

as a rational number with
108

33. Express

numerator: 32 (ii) —48

o Watch Video Solution



https://dl.doubtnut.com/l/_UZZgdu9Bp6j4
https://dl.doubtnut.com/l/_1uGn8VKBnKnw
https://dl.doubtnut.com/l/_oY7eVG3ceTo7

—192
108

numerator: (i)32 (ii) — 48

as a rational number with

34. Express

o Watch Video Solution

168

as a rational number with
—294

35. Express
denominator:
()14

(i) =7

o Watch Video Solution



https://dl.doubtnut.com/l/_oY7eVG3ceTo7
https://dl.doubtnut.com/l/_GQHN9z6qP0Jz
https://dl.doubtnut.com/l/_r44t0SnqwgPo

168
—294

36. Express as a rational number with
denominator:

()14

(i) =7

o Watch Video Solution

4
37. Write TR in a form so that the

numerator is equal to:
(i) —2

(i) 7

o Watch Video Solution



https://dl.doubtnut.com/l/_r44t0SnqwgPo
https://dl.doubtnut.com/l/_dFfPPqxLUkpg

—14

T in a form so that the

38. Write
numerator is equal to:

()42

(i) =70

° Watch Video Solution

39. Select those rational numbers which can

be written as a rational numbers with

t6-12345_6_7
numerator 6: 55, 55 7 Ty ey Tm o g

I o Watch Video Solution


https://dl.doubtnut.com/l/_dFfPPqxLUkpg
https://dl.doubtnut.com/l/_Ov15AJPsyxzi
https://dl.doubtnut.com/l/_EEq5KV6RruYY

40. Select those rational numbers which can
be written as a rational number with

denominator 4.

7 64 36 -—16 5 140
8 16’ —12’° 17 ' —4’ 28

o Watch Video Solution

41. In each of the following, find an equivalent

form of the rational number having a common


https://dl.doubtnut.com/l/_EEq5KV6RruYY
https://dl.doubtnut.com/l/_YX9RKmMXuo8h
https://dl.doubtnut.com/l/_KqNYzPfQv8Ol

: L3 27
denominator: (i) 1 andﬁ (i) 3G a,ndE

()5 3 9 d20
I 7, §,ﬂan ﬁ

° Watch Video Solution

42. Find whether the following rational

numbers are in the lowest form or not.

17
(I)E
24

) 330

o Watch Video Solution



https://dl.doubtnut.com/l/_KqNYzPfQv8Ol
https://dl.doubtnut.com/l/_v3feMg61lL0J

43. Express each of the following rational

numbers to the lowest form.

12
(i) 1_6
.. —60
(ii) -

° Watch Video Solution

44, Express each of the following rational

numbers to the lowest form.

. —24
" 35
91

| & I


https://dl.doubtnut.com/l/_maMe5tgMtmnq
https://dl.doubtnut.com/l/_tJiTMcITH4Im

| ¥ Watch Video Solution

90 —6

45, Fill in the blanks:
5. Fill in the blanks 165 . e

o Watch Video Solution

46. Determine whether the following rational

numbers are in the lowest form or not:

i &
) %1
—15
(1) —5-

o Watch Video Solution



https://dl.doubtnut.com/l/_tJiTMcITH4Im
https://dl.doubtnut.com/l/_lS3B6azh2Hv0
https://dl.doubtnut.com/l/_2U4Faob6tEBd

47. Determine whether the following rational

numbers are in the lowest form or not:

L 24
(i) ﬁ
.. —90
(i) T

o Watch Video Solution

48. Express each of the following rational

numbers to the lowest form:

4
(i) 99
— 36

) T35

| & I


https://dl.doubtnut.com/l/_0znzuHETsYVM
https://dl.doubtnut.com/l/_gmBnL1EutC2T

| ¥ Watch Video Solution |

49. Express each of the following rational

numbers to the lowest form:

0 132

V48
iy — %2
1] —_56

o Watch Video Solution

—5
50. Fill in the blanks: (i) - = — = — (i)

-4 12
—9 18

l ° Watch Video Solution


https://dl.doubtnut.com/l/_gmBnL1EutC2T
https://dl.doubtnut.com/l/_MfinsrLxb0Zs
https://dl.doubtnut.com/l/_kZD1RKCOMlkT

6 12

51. Fill in the blanks: (i) —— = ——
ill in the blanks: (i) 3 .

24

o Watch Video Solution

52. Express each of the following rational

numbers in the standard form:

—8
28
(i) —12
i) —35

(i)

° Watch Video Solution



https://dl.doubtnut.com/l/_kZD1RKCOMlkT
https://dl.doubtnut.com/l/_ttW38YPpiIP6
https://dl.doubtnut.com/l/_V6byJHruwyGr

53. Express each of the following rational

numbers in the standard form:

(i)—_49
.. —16
(i) T

o Watch Video Solution

54. Express each one of the following rational

—24
numbers in the standard form: (i)%zg (i)
299
—161

I o Watch Video Solution


https://dl.doubtnut.com/l/_V6byJHruwyGr
https://dl.doubtnut.com/l/_kFQt5xvBjgUZ
https://dl.doubtnut.com/l/_cYnnDEP7BhPd

55. Write each of the following rational

numbers in the standard form:

2
10
(i) =
1] 36

(i)

° Watch Video Solution

56. Write each of the following rational

numbers in the standard form:


https://dl.doubtnut.com/l/_cYnnDEP7BhPd
https://dl.doubtnut.com/l/_es8UN8BJy5kh
https://dl.doubtnut.com/l/_zxkskp7UogQ6

4
—16
(i) —15
i) —¢

(i)

° Watch Video Solution

57. Write each of the following rational

, 299
numbers in the standard form: T (i)
—63
— 210

° Watch Video Solution



https://dl.doubtnut.com/l/_zxkskp7UogQ6
https://dl.doubtnut.com/l/_78UV5h1UMBe5

58. Write each of the following rational

numbers in the standard form:

)68
0119
iy —195
"V o5

o Watch Video Solution

8 _50
—13 ¥

59. Are the rational numbers

equal?

o Watch Video Solution



https://dl.doubtnut.com/l/_mf8SS2R0gWju
https://dl.doubtnut.com/l/_emycgTdJHxnM
https://dl.doubtnut.com/l/_idt3HI6nQkFe

, —8 28
60. Are the rational numbers BTy and 10

equal?

o Watch Video Solution

—1 16
61. Are the rational numbers — and ——
6 —24

equal?

o Watch Video Solution



https://dl.doubtnut.com/l/_idt3HI6nQkFe
https://dl.doubtnut.com/l/_dGnsW3RR6hfV

15
62. Show that the rational numbers — 35 and
4

% are not equal.

° Watch Video Solution

63. Which of the following rational numbers

are equal?

L =0 3
(|) W and _—9
(i) —8 4 13
i gy and o=

o Watch Video Solution



https://dl.doubtnut.com/l/_jJz2Gngkm5yk
https://dl.doubtnut.com/l/_DLeFeSrIM4AP
https://dl.doubtnut.com/l/_QXNU20jRvriu

—5
64.1f — — > find the value of x.
7 28

o Watch Video Solution

—3
65. Fill in the blanki — = —
8 48

o Watch Video Solution

66. Which of the following rational numbers

are equal?


https://dl.doubtnut.com/l/_QXNU20jRvriu
https://dl.doubtnut.com/l/_Smom3B4qfUIV
https://dl.doubtnut.com/l/_1efg0R1nQIbu

(1) d S
V1o MY T
i ~16 20
1] 20 an _25

° Watch Video Solution

67. Which of the following rational numbers

are equal?

L =0 3
(|) W and _—9
(i) —8 4 13
I 11 and o

o Watch Video Solution



https://dl.doubtnut.com/l/_1efg0R1nQIbu
https://dl.doubtnut.com/l/_44jZNf2SrQsh

68. If each of the following pairs represents a

pair of equivalent rational numbers, find the

5 -3
values of z. (i) —and— (ii)) — andf

3 T 7 4

o Watch Video Solution

69. If each of the following pairs represents a

pair of equivalent rational numbers, find the

3 x .. 13 —65
values of z (i) 5 and —or (i) 5 and "

o Watch Video Solution



https://dl.doubtnut.com/l/_RhVwtOX5ZCOI
https://dl.doubtnut.com/l/_eh7tpMde3Igb
https://dl.doubtnut.com/l/_Nro7RaQbGvbt

70. In each of the following, fill in the blanks so
as to make the statement true: A number
which can be expressed in the form %, where
p and q are integers and q is not equal to zero,
is called a... If the integers pand g have no
common divisor other than 1 and q is positive,
then the rational number % is said to be in

the .. Two rational numbers are said to be

equal, if they have the same ...form.

° Watch Video Solution



https://dl.doubtnut.com/l/_Nro7RaQbGvbt

71. In each of the following state if the
statement is true (T) or false (F): (i) The
quotient of two integers is always an integer.
(i) Every integer is a rational number. (iii)
Every rational number is an integer. (iv) Every
fraction is a rational number. (v) Every rational
. . . a . .
number is a fraction. (vi) If 3 is a rational

, a axXm
number and m any integer, then — =

b X m

(vi) Two rational numbers with different
numerators cannot be equal. (viii)) 8 can be
written as a rational number with any integer

as denominator. (ix) 8 can be written as a


https://dl.doubtnut.com/l/_jcyYPLR45tqu

rational number with any integer as

numerator. (x) — is equal to 4
g e 6
° Watch Video Solution
5 —5 ,
72.Represent 3 and 5 on the number line.
° Watch Video Solution
8 —8 ,
73. Represent 5 and = on the number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_jcyYPLR45tqu
https://dl.doubtnut.com/l/_4joMwWexMx5V
https://dl.doubtnut.com/l/_AWhqTsVN8piU

74. Which of the two rational numbers

3 d—2_ tor?
s and —— is greater:

o Watch Video Solution

75. Which of the two rational numbers

5 3
7and 5 is greater?

o Watch Video Solution



https://dl.doubtnut.com/l/_c00Lld1ZFjPN
https://dl.doubtnut.com/l/_ctLLeKXyfYO0

76. Which of the two rational numbers

_4 5
5 5

is greater?

o Watch Video Solution

77. Arrange  the  rational numbers

-7 5 2

; : in ascending order:
10" -8 -3

o Watch Video Solution



https://dl.doubtnut.com/l/_s18Lx6B0Tbyy
https://dl.doubtnut.com/l/_r7p2ufoTEcdS

78. Arrange the following rational numbers in

4 -5 -7 11

d ' D —
escending order 9’ 6 “12°

° Watch Video Solution

79. Draw the number line an represent the

3

2
following rational numbers on it: (i) 3 (ii) 7

o Watch Video Solution



https://dl.doubtnut.com/l/_NbWzgZMdiZjn
https://dl.doubtnut.com/l/_bZ955VfprS1L

80. Draw the number line an represent the

-5
following rational numbers on it: (i) 3 (ii) ry

° Watch Video Solution

81. Draw the number line an represent the

-3
following rational numbers on it: (i) 6 (i)
—7
3

° Watch Video Solution



https://dl.doubtnut.com/l/_ehurTvSOYUkP
https://dl.doubtnut.com/l/_Pjb73TLNCvvz

82. Draw the number line an represent the

following rational numbers on it: (i) — (i)

—31

3

o Watch Video Solution

83. Which of the two rational numbers in each
of the following pairs of rational numbers is

greater?



https://dl.doubtnut.com/l/_uRUD1mLQmcgB
https://dl.doubtnut.com/l/_bdflAsWJIWak

| ¥ Watch Video Solution |

84. Which of the two rational numbers in each
of the following pairs of rational numbers is

greater?

-4 3

()< 77
.. —7 3
() =5 —

o Watch Video Solution

85. Which of the two rational numbers in each

of the following pairs of rational numbers is


https://dl.doubtnut.com/l/_bdflAsWJIWak
https://dl.doubtnut.com/l/_nbLQNHKDGyZZ
https://dl.doubtnut.com/l/_F6sKVh3ldKQT

greater?

. 4 =3
(i) -5 3
I 3 y 4

o Watch Video Solution

86. Which of the two rational nhumbers in each

of the following pairs of rational numbers is

greater?

i 5 —3
"9 T8
R
(i) 3 1o

o Watch Video Solution



https://dl.doubtnut.com/l/_F6sKVh3ldKQT
https://dl.doubtnut.com/l/_e0R9azHuKXZz

87. Which of the two rational nhumbers in each

of the following pairs of rational numbers is

smaller?

. —6 7
0 —3 13
16
i 2 3

() —

o Watch Video Solution

88. Which of the two rational nhumbers in each
of the following pairs of rational numbers is

smaller?


https://dl.doubtnut.com/l/_e0R9azHuKXZz
https://dl.doubtnut.com/l/_2R53mjRUAQfc
https://dl.doubtnut.com/l/_q8GPrzNKZiLO

—4 3

37 -7
(i) —12 5
I 5

(i)

° Watch Video Solution

89. Fill in the blanks by the correct symbol out

of >, =, or <:
. —6 7
(|) T..... 1—3
(i) —3 —5
i) —..... ——
5 6

o Watch Video Solution



https://dl.doubtnut.com/l/_q8GPrzNKZiLO
https://dl.doubtnut.com/l/_HxZjjUo3ldjm

90. Fill in the blanks by the correct symbol out

of >, =, or <:({)—%—er..— =

o Watch Video Solution

91. Arrange the following rational numbers in

3 —1 8 =7
ascending order: (z’)g, _33, —5 15 (ii)

—4 5 7T 2
9 > —127 —18° -3

o Watch Video Solution



https://dl.doubtnut.com/l/_BPAzOJGxVazc
https://dl.doubtnut.com/l/_FxrmfaFU1UJT
https://dl.doubtnut.com/l/_UwyEszpdCqZ5

92. Arrange the following rational numbers in

descending order:

(z,)7 64 36 5 140
8 16’ —12° —4’ 28

-3 17 7 —11

10> —30° —15’ 20

(ii)

o Watch Video Solution

93. Which of the following statements are

29
true: (i) The rational number 23 lies to the

left of zero on the number line. (ii) The

17 lies to the left of zero

rational humber

on the number line. (iii) The rational number


https://dl.doubtnut.com/l/_UwyEszpdCqZ5
https://dl.doubtnut.com/l/_tOQhnFQvI6El

1 lies to the right of zero on the number line.

—12 — 7
and — are
—5H 17

(iv) The rational numbers

on the opposite side of zero on the number

—21
andi
—31

line. (v) The rational numbers

are on the opposite side of zero on the

-3
number line. (vi) The rational number 5 IS

—4
on the right of — on the number line.

o Watch Video Solution

44

— in standard form is

94

@) —


https://dl.doubtnut.com/l/_tOQhnFQvI6El
https://dl.doubtnut.com/l/_bgrQQ0S3nhw9

4
(b)—7

4
7

(d) None of these

(c)

o Watch Video Solution

—102
19

in standard form is

1
(@)
7
(b) =
7
6
17

(d) None of these

(c)

o Watch Video Solution



https://dl.doubtnut.com/l/_bgrQQ0S3nhw9
https://dl.doubtnut.com/l/_5OsaIKIYFPva

96. A rational number equal to 3 is

—10

25
10

—15
-9
6
(d) None of these

(a)

(b)
(c)

o Watch Video Solution

-3 x

97.f — = —, thenx =
7 35

(a)15

(b) 21


https://dl.doubtnut.com/l/_5OsaIKIYFPva
https://dl.doubtnut.com/l/_iGq3N6ED2bwZ
https://dl.doubtnut.com/l/_bZLHAagPyktc

()—15

(d) —21

° Watch Video Solution

98. Which of the following is correct? (a)

S 2 2 g 2 28 )
9~ _8 9 > "8 \“ 3 7
4>—8

—3 7

° Watch Video Solution



https://dl.doubtnut.com/l/_bZLHAagPyktc
https://dl.doubtnut.com/l/_3SgRkIUpCY5t

99. If the rational numbers %and%
represent a pair of equivalent rational
numbers, then x =

(a) 6

(b) —6

(c) 3

(d) —3

o Watch Video Solution



https://dl.doubtnut.com/l/_v9Q6YoPJWW0z

100. What is the additive identity element in
the set of whole numbers? 0 (b) —1 (c) 1 (d)

None of these

o Watch Video Solution

101. What is the multiplicative identity element
in the set of whole numbers? O (b) —1 (c) 1 (d)

None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_Yz9Ud4C8OZuy
https://dl.doubtnut.com/l/_4zdHdjl9ukBN
https://dl.doubtnut.com/l/_mAJuND79qGxT

102. Which of the following is not zero?
(@0 x 0

0 2
()2
(6 —6)
2
(d)4+0

(c)

o Watch Video Solution

103. The whole number nearest to 457 and
divisible by 11 is
(a) 450

(b) 451


https://dl.doubtnut.com/l/_mAJuND79qGxT
https://dl.doubtnut.com/l/_D9Btxz8ZvF6E

(c) 460

(d) 462

° Watch Video Solution

3 T
104.If—§and o1

are equivalent rational
numbers, then x =

(a)3

(b) 6

(c)9

(d) 12

o Watch Video Solution



https://dl.doubtnut.com/l/_D9Btxz8ZvF6E
https://dl.doubtnut.com/l/_jJGczOgNZ9PM

105. If

is expressed as a rational number

with denominator 5, then the numerator is

(d) —6

° Watch Video Solution

106. Which of the following pairs of rational

numbers are on the opposite sides of the zero


https://dl.doubtnut.com/l/_jJGczOgNZ9PM
https://dl.doubtnut.com/l/_mLnOAr3p2DUD
https://dl.doubtnut.com/l/_SmjqFFIObytN

on the number line? (@) — and— (b)

7 12
3 -5 3

- andﬁ (c) - andﬁ (d) None of these

° Watch Video Solution

107. The rational number equal to —3 Is

° Watch Video Solution



https://dl.doubtnut.com/l/_SmjqFFIObytN
https://dl.doubtnut.com/l/_Osap1i9NUUFn
https://dl.doubtnut.com/l/_K50U96EFH0PM

3 6
108.If — — = —, thenz =
4 T

(a) — 8

(b) 4

° Watch Video Solution



https://dl.doubtnut.com/l/_K50U96EFH0PM

